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Option Explicit
Sub PointCalc()
Open "c:¥data¥Point.csv" For Input As #1
Dim buf As Variant
Dim data As Variant
Dim ritsu As Single
Dim point As Integer
Dim pSUM As Integer
Dim x As Integer
Dim y As Integer

Ccsv
x=1
Do While Not EOF(1)
Line Input #1, buf
data = Split(buf, ",")
For y = 0 To UBound(data)

CeIIs%x + 1,y + 1) = data(y)

X=xXx+1
Loop
Close #1

x=1
Do Until Cells(x + 1, 2) ="

If Cells(x + 1, 4) < 10000 Then
ritsu = 0.05

Else
ritsu=0.1

End If

Cells(x + 1, 5) = point
pSUM = pSUM + point
X=x+1
Loop
Range("E12") = pSUM
End Sub




